Ricomposizione dei numeri e calcolo

ZZA. Scrivi i singoli addendi e calcola in colonna sul quaderno. Segui I'esempio.
11da + 104u + 4d + 42uk + 14dak = 110 + 104 + 0,4 + 42.000 + 140.000= 182-214,4

108u + 83d + 66¢Cc + 3h = =

45h + 16da + 3:600c + 3h = =

153u + 45d + 6da = =

2h +35da + 6u +2203c= =

6:003m + 2da + 320d = =

11d + 500m + 401da + 158u = =

153d + 45¢c + 6u = =

108d + 846m + 5¢c + 30u = =

3:001u + 2:000m + 150h + 40uk = =

153c+45m + 6d = =

38m +23d +4u + 341c= =

11da+173u+4d = =

11dak + 173uk + 4d = =

-9¢ - 9d NUMERO + 9d +9c
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184,14

41,696

4696

416,96

9,748




